Because a relation is a set of ordered pairs, graphing the ordered
pairs is one way to represent the relation.
Example 3 Reading a Graph pSp—— .
For the graph shown, ! LR Lo
a) express the relation as a set of ordered pairs ---—ll -
b) write the domain and range T }
= Q 2 : r_:ﬂ d
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Solution el sl
a) The set of ordered pairs is (-2, -2), (1, 2), (3, -2), (4, 0).
b) The domain is {2, 1, 3, 4}. The range is {-2, 0, 2}.
| Practice ‘ Plot each point on a grid.
A 17. A3, 5) 18. B(S, 3)
Name the point with the given coordinates on the 19. C(-3,5) 20. D(-5, 3)
following grid. 21. E(3,-5) 22.-F(5,-3)
G ) Wy An— SR 23. GO, 4 24. H(4,0)
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5. (0,-2) av 2} |4l 31. 00,0
6.(52F 8w | ! &) For each graph,
7. (-3,0M 6 I—F =2 [o[E] 2 3G a) express the relation as a set of ordered pairs
8. (1,-5K 2Pt | T | b) write the domain and range
9. (-6,—NL Ll % s2 33,
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15. -4,-DT 220 G T
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